
Lösungen zum 40. Präsenzblatt für MfI 3

1. Aufgabe :

(a) Gerade:

A =




1 1
1 2
1 4
1 6
1 7
1 10




b =




23
17
3
2
3

20




A∗A =
(

6 30
30 206

)

A∗b =
(

68
302

)

A∗Ax = A∗b

x =
(

14.7262
−0.6786

)

g(x) = 14.7262− 0.6786x

(b) Parabel:

A∗A =




6 30 206
30 206 1632

206 1632 13970




A∗b =




69
302

2358




x =




35.9149
−12.1595

1.0597




p(x) = 35.9149− 12.1595x + 1.0597x2
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2. Aufgabe :

(a) ja

COV (X, X2) = E(X ·X2)− µXµX2

E(X) =
∫ 1

−1

1
2
xdx

=
1
4
x2

∣∣∣∣
1

−1

= 0

E(X2) =
∫ 1

−1

1
4
x2 dx

=
1
12

x3

∣∣∣∣
1

−1

=
1
6

µX = 0

(b) nein
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